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" THIRD REVISION TEST - 2025

Standard X  RegNo[
. i MATHEMATICS iy
| Time:3.00hrs Vi R R ' Marks : 100
L Chom the correct answer: T : 14x1 14
1. If lherb are 1024 relations from a setA {1 2,34 5} to a set B then the number of
- elements in B.is . _ |
a) 3 15 {Iﬁj c) 4 _.d) a
Iff:A>Bisa bijective function and if n(B) =7, then n(A) ls equal to

. b) 49 6) §. d) 14 3
3. Tfthe HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is

a4 L W 05

Ifthe sequence: ty b, ta .......... areinA. P. theri the sequemr:et6 Vo il s
a) .a geometric progression rf an arithmetic progression } ;._'
c) neitheranA.P nora G.P .. +d) a constant sequence .

& |4 f1m) e | - N
Find the matrixxif?X+[5_ 7‘).:(9 _5J sy i

i3 -2 f2 2 e § )i
TSR EI e
The solution of (2x — 1)% = 9 is equal to '

Rl R 1 ol ko GHING mbGE

A tangent is pe‘rpenda'cu'lar to the radius at the

@) Centre  [ib) Point of contact c) Infinty ) Chord

The area of a triangle formed by the points (-5,0) (0 —5) and (5 0) is
a) 0 sq.units l ) 25 sq units ] c) § sq umts d) None ofthese

29 St

The value of Slﬂ 9

&) tan2e THen PR W g ol

- 10.

If the radius of the cylinder is doubled. the niw volume of the cylinder wil! be .

* times the original volume.

2) same Y _d)z"'

4,

S - = e SONPS ook —
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LA X Maths

1. The helght of a nght cmcular cone whose mdlus is 5 cm and slant helght is 13 cm is

‘aEcmE! ' - b) M0cem '-c)13cm d)5cm - | '
- 12. "Two poles of helghtemand 11 m stand vertically on a plane ground. If the distance

' between their feet is 12 m, what is the distance between their tops?

" ) b) 14 m /0)15m . d) 128m

" 13. Ifthe standard deviation of x,y,z is P then the standard dewatlon of 3x+5 3y+5 3z+5 .

L g g
is <

TR Tl Ny

S 14, Kamalam went to a playa lucky draw contest: 135 tickets of the lucky draw were sold.

If the probability of Kamalam winning i %, then the number of tickets bought by
Karnalam M

‘a) 5 b) 10 iy d)_ 20
g Part Il £
i, 'Ansmr any 10 quostlom (Q.No.28 Is compulaory) i ,10x_2-;zo
15. If BxA={(=2,3) (-2.4) (0,3) (0,4) (3,3) (3,4)} then findAand B @

16, Arelation f is defined by f(x) = e 2wnareie{-2-103}(I)Usttheelementsoff
' .'(li)lsfafunchon? - b
-~ 17. Find the sum of the series 3+1+—+...-...ao

18. Find the hber e e 3,6,9,12.... 111
19, Find the LCM of -9a%2, 12a2b2

- o 43
(IR 1 -J" 2
20. If then ﬁnd the trans e-—A
| 3 =5 .

21. The perlmoter of two similar triahgles ABC md PQR are respectwely Se-cm and

. 24cm. fPQ = 10cm, find AB
Prove that seco oose = tane sine
."'Flnd the angle of elevation of the top of a tower from a polnt on the ground whlch is

;,'aOmawayfromthofootofthetawerofheight 1043 m. . _.
N -lfthetotqlsurl‘aceareaofaconeofradius7m1is?04¢m2 then find its slant height.
. 25. Ifmeclrcumferenoeofaoonlcalwoodenpleeols4840m ﬂ'nenﬂnditsvolumewhen

_ _itshelghtis105cm _
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m fﬁnt{f& P
Woa L %36—era, =KX Maths
; 26 Find the range and oo-efﬂmentofrango for 63, 89, 98, 125, 79, 108, 117 68

27 In a leap year, find the probability of getting 53 Saturdays

=3}

i 2f<4)+f(a) iy
31.

32,
33,

%'332

37.

. The angle of elevation of the top of a cell phone tower from the foot of a hlgh apanmom-' -
~ is 60° and the angle of depression of the foot of the towerfrom the top of the apartment

. fA={123)},B= {2,3,5),C = {3.4},D = {fss} thenprovethat-
_(AnC)x(BnD) (AxB)n(CxD) '

A funotlon f: [-5, 91 >R is defined as fX)=

~ 28. Findthe equa!ion ofa slralght Iine passmg through the point (-1,2) and whose angle of
e mcllnawn is 45° ' :

i '1—1—3

| 1ox5-50

Part -
Answer any 10 quostlons (Q.No.42 is compulsory)

6x +1 if ~5<x<2
x —1 if 2$x<6 ﬂnd
Ix-4 if 65)(59

2f2f6
4 (-2

Determine the general term of an A.P whose 7“‘ term is -1 and 16t term is 17
If x* - 8x3 + mx2 + nx + 16 is a perfect square, then ﬂnd the valueof mandn

A bus covers a distance of 90 km ata uniform speed Had the speed been 15 km!hour
more lt would have taken 30 minutes less for the joumey F'nd the original speodoftho

' bus.
. Show that the angle blseclor ofa tnanglo are concurrent.
. Find the area of the quadrilateral formed by the points (8,6) (5, 11) (5, 12) and (~4, 3)
. Find the equation of a straight line through the intersection of lines -

7x+3y 10, S5x -4y = 1andparalleltotheline13x+5y+12=0

Pt

Ifoose00+oot0 P, thonprovethatOOS9=P21

"~ i8 30°. If the hetght of the apartment is 50 m, find the height of the cell phone tower.

" ‘According to the rediation control norms, the minlmum height of the cell phoneto\ior- _
should be 120 m. State if the helght of the above mentioned ooll phone tower meets. .-

~ the radiation norms.

. A rlght circular oyllndor container of baoa radaus 6 cm and helght 15 cm is full of ice-
cream. TheIoo-croamlstobef'llodlnoonesofhelghtscmandabasuadiusScm; w
havhgahomispherlcaloap Flndthonumberofoonosnoododtoomptytheoontalmr '

[ - _ \
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40. A container open at the top is in the form of a frustrum of a cone of height 16.cm with
+-..radii of its lower and upper ends are 8 cm and 20 cm re'spe'ctiveiy' Find the cost of milk
which can| oompletely fill a container at the rate of ¥40 per litre. i _‘

41. Three unblased coins are tossed. Find the probability of getting atmost 2 talls or atleast

- 2:heads. |
~ 42. Find the mean and vquance of the ﬁrst n natural numbers
| Part-IV , _
IV. Answer all the questions. i e 2x8=16

. 43.a) A school announces that for a certain competition the cash price wnll be d:stnbuted
all the partlclpants equally as shown below : - :

U\Nlp.ofparthpants (%) o SR O W O 8 | 10

Amount for each participant inz(y) | 18090 | 60 | 45 | 36

f) Flnd the constant of variatlon _
¥ . ___lp How much each partlc;pant will get if the number of pamclpants are 12
- : (OR) | -
b) 'Draw the graph for y = x2 +3x -4 and hence solve X2 + Ix-4=0

~~~~~

44, a) Constructa triangle similartoa given triangle ABC with its sides equal to 6/ of the

i 3cbrresponding sades of tha triangle ABC. (Scale factor / )
Wi | (OR) . _

- b) Take a point which is 11 cm away from the centre of a circle of radius 4 cmand”
_ draw the two tangents of the circle from that point.

R Tt T
._'_'_l\v..ul :;_'& I -,'. ot

/. R
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 Thod Rewvrsion Test 2085

LUFER o L = i - 9
2.la) 7T o (73 a4 2.
BAR 2 18)  6=3 d=b-z:-3
AlB a_nmmg&?m L -
B ‘bD /-9._ :9\ N=/t- - 1 -
&,/ Ld o
bl ) (=1,2) = 31,
LAWY, Dofnta:f Conlact O Ap temtasns. 37 lams -
3 !
g Il b) ,96')5% unils - '
2.1 b6) 1 19)_=9a%% = & 3 x@xp>
to.| ¢ 4 126>bC = hx3xa Xbxe.
nelia) 12 Cm LeM —qu,xaa,\‘b"xc,
2. ld) J3m _ B ﬁ.%b_@.abzc
8./ 6) _3p LCAL £
wle) ls bo) -2 U= (' @]
Log oo 15 |
Part I
T N Two Manks . 21) A ABC VAPAR
AB . BC - pc 36
5] A= £3,45 P4 @R PR =,
a2 IR AB - 3b . pB - 3L
PR~ .24 = R -
by Lex)= x=2 PB = 3bxlO = |Sem
.ér-r) (—SLLL._Q_ dat

-T- (1) = (1) - =2 = -1

J!‘J f_,A_Q_ —f;mam

.ﬁm) ()22 = -2 Cosb- Coso-
;—CB)-—(:B)-Z : 1 = M —_‘__' )
fe f2,2) G, Cass-  Cosw
(0;—22(3,12% = tang fonb-
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| ik fuﬂ%ﬁmdaf_:_il
& ’Q iy £ 2. days
o, il 27 saiaiies i SR soad)
AR = 30m BcJO@;m (m_#itm
. b = \L - Bc- C&d‘- -'M;n) tl
_____Jﬂ___-___a%Lm_?B gy =T o
| - e . B | PCgelling 58 Yaliuday).
| 363 BB | A { fei-sat | satsunl
tanf - L. - nw) =2 - '
| 215 Pcp)= (B - 2
B = .300' s £
=10 T8h = TN |2 W =taes- = lanks = L.
3B - emx+c (=129
| 4o = %ﬂf{‘ £+71) 2 = (=) +¢
oy 45> 812 412
T AL CA A et
S =35 (m_ Vo= Nab B = RS =D
25 0o _ 1 Tant @
— base.of thuCeno . J B o) A: {1,037 8= {2355
h.-to5 ¢ém ‘ c={3,6% D= f:.s:s&
;?H 'Y;_q&_(j = 515_3
Y- Uguxlx "’1 ﬁn&).ﬂ& n) ] (5131[51532&
: N =170 = RiS C.;a;)(‘_a 1S 6220 (22X2S)
S e e e 520832l 9
| =X 22 5 27Y TT 36, - B mﬂg
| il PxBn(cx)- ch_:a,-s)(a,s)lv.
..z b52190 Cn° 3
39)(”?@) =5W- =79
I 0. 108 . 2.C4x) = 2(19) =158
264 K= )a8= ls'u’.?-—b?_\;zéﬁz L T

e

g
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D P =6@dH = =) 88 1k x ki lhy. be it Speed -
i __.t_E(ﬂ 2) = -22. (ime taxen to Cover q0km = 90 hys. |
L) = 36)-Y =y - !:WM
&) l-E(g):“lq pUR ) Ve = _a_f_g' !
D o Ll ke o HAls-
Pt T9=22 57| fimg secuced "= ‘o hr:
_ L -'i_%,-_ '; Q0 Q0 — eyl ey
3. | gzl byot7 : o 75 o3
A 9D iy o (x+15) — X _
TR O R S x (x +15/ =2
Qo +(lb-Dd =1 1'=> a+i5d=17 x 5% = 2700
(O - = =) 750 5N~ TOO O
1 &d =17 —15% /225 = 20,-20|
N :éfi\::,é [d= 2] B h <1 &% |
dz22D > o +bd=4 = UG, b0 - i
| A2 7 reagnal JSpea
[B=-13) A - §
qm&.@me_tﬂEa+fM)d 34) E
vz =12 +(n-1) 2) B 5 = |
= )242n-2 -T‘*ﬁ:m“’ at nh =
th = an-15" lo poove BC - AO
: 200D aitnD

(m-lbh*2nx + 1. | = .{bag__a&ﬁ —@

;- |
jx_-_&z%ﬂ
|

o« B w327 £C

P - R T A AN
(M- (n3dx - 7" Bb 60
m-2y=0__ N+32=0D . ~po
| D¢ DD
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Q0t = P—_)
P
I do "
= p.ﬂ:_’ X %
Xesetor P P+
4
_ﬁﬁm___Z{? = [ =)
| - Pz‘-‘;—Jb
/
G o ot
Il(. u . \v
VAN
A bl
A ABC  tanso- 5D
o —, d-
% . ¥
\ Y=5013
.‘5?5; <12/, A Ape  tanbe = 5K
Theegn = (YD =" =13 ) 5013
" 2
6‘;! =S = = I3A+13, 3. - X
50@

2945y — 1820 {ate.

.ﬁt.uiuxmd €gn, il bDx3:=x =[50
Coter 8+Ceto=p. —— (D

Cgﬁer’b *_cat"&- L 1

(cos etpYCot 8)CepsecOLot®)=] npvms -

: 54

Kindly Send Me YW&&-US Email ID: padasalai.net@gmail.com_



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

www.TrbTnpsc.com -

My
T, TrH, THT, “HITS.

ni&g): 8.

Z Ii\/

A= {HBH, BT, HTH, THH,TTH,

Thr, HTTE .

neay= 1. P = L

Baﬂmﬂ'_&_.ﬂaﬂﬂal—

18 T o e Jﬁﬂﬁl HHT, ﬁ]ﬂ,!&dg.

“Neg) - Plp): ;

= 22 jus» ADns) = fHHH HHT, HI H"H»z
- Mmgmm.__un_hg%ﬂw PooRd = 4 PLADED B 4
: \olum !.f ‘
=3 Qz',,.?aggg | PLPU) = PR) + PIED - Plong)
:_7; - =R - 1
| ZEXFEE D 2;
| 7 : == 1
Nﬂ . =% \ L
o R-P0em #.- gt f=16 _41-12;') X |+ 2424 . dn -fin+)
o . 4 N bo¥7 4
_L; ;E;f-f-ﬁv-h’n’)k@m _‘)Z- F)+1
L= |8,g%{&aniggxg-}ﬂnj T3 . e M 5
= 4 ¥2ZZx62uxl6 ( ,,/
£ .
= 10ySa .Yagm> ;—xf__,_ﬂ_- Ry .
| 10453.U2E tm”= o USHELEX) 20 £ 243 > YT
iMﬁqg_nﬂLgmmﬁa._a-__maﬂlLanﬂ) Ln mﬂﬂ
| = L0X10-459. GxD / EW) /
:L‘L’&fﬁb- = 2h2_+57“ k. h_-;-_zn-H
o 4-
o 4l,na'+6r1+:!. —Bn?'-énss_g_._, na:{
2~ o

|
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Vo b 1V %
Ha) @) () K= %Y J,
K= 2X) L bxb0, 8xuS ., 10a36 |
k = 2bo . -~ 3.\ ol o ?
_ >
(> - Pasticiparty= 12
- 2bo = 50
12
] Y = $3LY
o |-5[-Y]|->]|-2> = X —
x*|as | b |4 47:
oy |15 |22 | =7 _—
M ETCH -
Y 1 6l o Y — {

T oﬂlm polnls (=5.6) [-4,0) (‘-z.—u) (2,-6) (,-)

/‘o —4) C’)O) (. 8)

T eqn =0 g“f;m,,gﬂg dhe R _asus

|

Atlubian - (~40) (100D
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